pandas7 07 7 L%
EIVPH>TERIELTSEH?

2025/01/25
FHiw—A SciPyData 2025



Intel Xeon Phi

A —A (X=2a7)

(NECtF 2TV RTLTSY 74— LHAERFRAE)

<INFTOED-> TEA-FLHREE>
A

37 51 AILIE
INANRT H—wrRAVEa—FT 47

NEC SX-Aurora TSUBASA
(R/xa)

IRTE (I FireDucks % 5
(FireDucks: pandasD &Rk Z7 A4 77 1)

https://pc.watch.impress.co.jp/docs/news/yajiuma/1238340.html
https://jpn.nec.com/hpc/sxauroratsubasa/specification/index.html



pandas: T—X YA T XDUHEY —I

AE2E

numpy
pandas
pyarrow
scipy
matplotlib
scikit-learn
networkx
openai
transformers

torch
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pandasDEEZHEHE>TWVLIET

Wes McKinney

Apache Arrow and the “10 Things | Hate About
pandas”
[ PanDas | [ apacte aRROW | 1.Internals too far from “the metal”
. 2.No support for memory-mapped datasets
Wes McKinney 3.Poor performance in database and file ingest / export
4 .Warty missing data support
Sep. 21, 2017 5.Lack of transparency into memory use, RAM management

6.Weak support for categorical data

7.Complex groupby operations awkward and slow
8.Appending data to a DataFrame tedious and very costly
9.Limited, non-extensible type metadata

10.Eager evaluation model, no query planning

11.“Slow”, limited multicore algorithms for large datasets

https://wesmckinney.com/blog/apache-arrow-pandas-internals/
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Quiz: Which one is a better code?

def foo(filename): def foo(filename):
df = pd.read_csv(filename) return (
tl = df.drop_duplicates() pd.read_csv(filename)
t2 = tl.sort_values(“B”) OR .drop_duplicates()
t3 = t2.head(2) .sort_values(“B”)
return t3 .head(2)
)




Importance of chained expression

df: ~16 GB
Al B [ c |
u 0.91 1 t1: ~8 GB t3: ~8 GB
def foo(filename): 2 Loty SN . | 5 | c MW A | B | c| 14: ~x KB

df = pd.read_csv(filename) a 1.00 4 0.91 1 1.00 4 --_' e
tl = SF.drop_dup1icates() ° 0.24 0 : 1.00 4 3 0.91 1 = 100 4
t2 = tl.sort_values(“B”) — gig ? o 0.24 0 e 0.43 1 z 001 ;
t3 = t2.head(2) e 001 : e 0.43 1 o 0.24 0 '

u .

0.20 % 0.20 2

return t3 o 0.20 2 e e

o 0.24 0

a 1.00 4

drop_duplicates

re-write using chained
expression

0.91

def foo(filename): 100

return ( 100 Al B | c W Al B | c|
i - 0.91 1 1.00 4
pd.read_csv(filename) 024 u a Al B lc|
.drop_duplicates() a 1.00 4 u 0.91 1
i 0.24 B 1.00 4
.sort_values(“B”) o 0.24 0 e 0.43 1
e e 0.43 1 o 0.24 0 ! 091 !
.head(2) 001 . .
e 0.20 2 e 0.20 2

0.20
0.24
1.00

mO(DC(DOOmQ)CH

RON—- 200N K

drop_duplicates
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Quiz: Which one is a better code?

res = df.sort_values(by="“B”) [“A”]

OR
tmp — df[[uAn, “B”]]
res = tmp.sort_values(by="“B”)[“A”]

10



PushdowniziE 1t

SAMPLE QUERY

df.sort_values(“A”)

query("B > 1")["E"]

.head(2)

not required
(Al c o]

i i

1 1 -
...... [ o e o e e e e e N ﬂ
RS SEUSES SRS et S . [ o N -
______ IR s e e ' ]

L bt i
; _____ A 1__.; i- ] I : : :
i I oy ! 1 L i 1

I I I ----- 1 ------ h-- I I
L ! poal I : I !

----- === e ey : 1

1 1 i 1 (T L N

! ., e oo S

L H L

OPTIMIZED QUERY

df.IOC[:, [IIAII, IIBIII IIEII]]
.query(“B > 1")

sort_values(“A”)["“E"]
.head(2)

(alefclolc B ale]e]
BN NI I

> <

reduc'ﬂon in the number

of rows
reduction in the number

of columns

predicate pushdown

projection pushdown .
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f): TPC-H Q3 o
SQLOSHEEEZZ DX FpandasiC L7270 7 7T L4

pd.read_parquet(os.path.join(datapath, "customer.parquet™))
.merge(pd.read_parquet(os.path.join(datapath, "orders.parquet")),
left_on="c_custkey", right_on="o_custkey") 7 7 A JLIE BN K
.merge(pd.read_parquet(os.path.join(datapath, "lineitem.parquet")),
left_on="o_orderkey", right_on="1_orderkey")

.pipe(lambda df: df[df["c_mktsegment"] == "BUILDING"]) .
.pipe(lambda df: df[df["o_orderdate"] < datetime.date(1995, 3, 15)]) XFTRITD I H
.pipe(lambda df: df[df["1_shipdate"] > datetime.date(1995, 3, 15)])

.assign(revenue=lambda df: df["l_extendedprice"] * (1 - df["1_discount"]))
.groupby(["1_orderkey", "o_orderdate", "o_shippriority"], as_index=False)

.agg({"revenue": "sum"})[["1_orderkey", "revenue", "o_orderdate", "o_shippriority"]]
.sort_values(["revenue", "o_orderdate"], ascending=[False, True])
.reset_index(drop=True) 2SI —TEDOE D
-head(10) AEtEiBH

.to_parquet(os.path.join(“g3_result.parquet™))

12
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sEit L7787 7 A

reg_customer_cols = ["c_custkey", "c_mktsegment"] # (2/8)
reg_lineitem_cols = ["1_orderkey", "1_shipdate", "l_extendedprice", "l_discount"] #(4/16)
reg_orders_cols = ["o_custkey", "o_orderkey", "o_orderdate", "o_shippriority"] #(4/9)

customer = pd.read_parquet(os.path.join(datapath, "customer.parquet"), columns=req_customer_cols)
Tineitem = pd.read_parquet(os.path.join(datapath, "lineitem.parquet"), columns=reqg_lineitem_cols)
orders = pd.read_parquet(os.path.join(datapath, "orders.parquet"), columns=req_orders_cols)
f_cust = customer[customer["c_mktsegment"] == "BUILDING"] WMWELRIFEIT %
f_ord = orders[orders["o_orderdate"] < datetime.date(1995, 3, 15)] AW L
f_Titem = lineitem[lineitem["1_shipdate"] > datetime.date(1995, 3, 15)] AL
f_cust.merge(f_ord, left_on="c_custkey", right_on="o_custkey") {ﬁ-74;pﬁ 75_»55;:
.merge(f_litem, left_on="o_orderkey", right_on="1_orderkey") 5§?—
.assign(revenue=lambda df: df["1_extendedprice”] * (1 - df["1_discount"])) T
.groupby(["1_orderkey", "o_orderdate", "o_shippriority"], as_index=False)
.agg({"revenue": "sum"})[["1_orderkey", "revenue", "o_orderdate", "o_shippriority"]]
.sort_values(["revenue", "o_orderdate"], ascending=[False, True])
.reset_index(drop=True)
.head (10)

.to_parquet(os.path.join("opt_q3_result.parquet™))

13
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sEit L7787 7 A

req_customer_g
req_1lineitem_c
req_orders_co

16)

customer = pd stomer_cols)
Tineitem = pc ineitem_cols)
orders = pd. s_cols)

f_cust = custd
f_ord = orders
f_Titem = Tine

%E&ﬂtﬁ%}

f_cust.merge(

74»5?%5'&&}

.SOrt_va sql-based optimized

14



@SS ANDEIER, T v Fa— FEIER

B
# Find year and month-wise average sales
s = pd.Series(["2020-01-01", "2021-01-01", "2022-01-01"])

df = pd.DataFrame()
df["year"] = pd.to_datetime(s).dt.year
df["month"] = pd.to_datetime(s) .dt.month
df["sa1es"] = [100, 200, 500]

= df.groupby(["year", "month"])["sales"].mean()
print(r)

Tv ka—F

def demo_dce(dfl, df2, is_eager_mode = False):
merged_df = dfl.merge(df2, on="a")
sorted_df = merged_df.sort_values(by="a")

# print(sorted_df)
return merged_df.groupby("c")["d"].sum()

15
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HETED XYy FOEAEDLEZ LY REWHASDOEICE#ET 5

df[“timestamp”].dt.stritime(“%Y").astype(int)  # timestampZllA> 5 FDELY H L

mm) df["timestamp”].dt.year

groupby(“a”).sum().sort_values(“b”)  # groupbyftE%bs| TV —

‘ groupby(“a”, sort=False).sum().sort_values("“b")
# sort=False % 1B/

16



IV—7 XapplyZiEilT 5

def by_loop(df)

result = []
\ for _, in df.1 c
Close1#°Opendll & 1) & LN F 14" up", Tk Ton Close ] o ronT open*]:
BT down” E WD FEAEY 720y ) —F result += ["up"]

else:
result += ["down"]

mm m return pd.Series(result, index=df.index)

100 110
def by_apply(df):
108 107 ‘ down def func(row):
112 103 down apply if row["Close"] > row["Open"]:
return "up"”
103 120 up return "down"

return df.apply(func, axis=1)

def by_getitem(df)

AP| result = pd.Series("down", index=df.index)
result[df["Close"] > df["open"]] = "up"
return result

17



IV—7 XapplyZiEilT 5

def by_loop(df)

result = [] bitcoinfli#& 7 — &
for _, row in df.iterrows(): (48577 17)
if row["Close"] > row["oOpen"]: 1
result += ["up"] 65$/
else:

result += ["down"]
return pd.Series(result, index=df.index)

def by_apply(df):
def func(row):
if row["Close"] > row["Open"]:

return "up" 1850

return "down"

return df.apply(func, axis=1)

def by_getitem(df) %) 1887x from |OOp
result = pd.Series("down", index=df.index) ~ 7]\
result[df["close"] > df["open"]] = "up" 353 ) $/ 524X from app|y

return result

18



csvhbparqueticZ X %

CSV: F¥RAb7x—=v k

Parquet: X4 F U7 x+—<v b (Z7A1LHAX)
I 725MB
pd.read_csv(data.csv) 6.7
pd.read_parquet(data.parquet) 2.5% 2.7x
203MB

pd.read_parquet(data.parquet,
dtype_backend="“pyarrow”) 0.35%) 19x

TPC-H®Dlineitem T — 7 /L T D AITE (sf=1)
*T7 7 AIF vy T allEH o RETORITE o
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Database-like ops benchmark (https://duckdblabs.github.io/db-benchmark)

basic questions basic questions

Input table: 1,000,000,000 rows x 9 columns ( 50 GB ) Input table: 100,000,000 rows x 7 columns ( 5 GB )

B FireDucks 1.0.4 2024-09-10 15s B FireDucks 1.0.4 2024-09-10 7s
[ | DuckDB 1.0.0 2024-07-04 25s [ | DuckDB 1.0.0 2024-07-04 9s
B ClickHouse 24.5.1.17632024-06-07 28s B Polars 1.1.0 2024-07-08 9s
B Polars 1.1.0 2024-07-09 47s B Datafusion  38.0.1 2024-06-07 15s
B Datafusion 38.0.1 2024-06-07 56s B InMemoryDataBetdlp 2023-10-20 25s
B data.table 1.15.99 2024-06-07 88s B ClickHouse 24.5.1.17632024-06-07 43s
'] DataFrames.jl 1.6.1 2024-06-07 91s B data.table 1.15.99 2024-06-07 62s
Il InMemoryData@etslp 2023-10-17 218s ] collapse 2.0.14 2024-06-07 69s
B spark 3.5.1 2024-06-07 261s [l DataFrames.jl 1.6.1 2024-06-07 77s
[ ] R-arrow 16.1.0 2024-06-07 378s M spark 3.5.1 2024-06-07 128s
[ collapse 2.0.14 2024-06-07 411s M dplyr 1.1.4 2024-06-07 214s
[l (py)datatable 1.2.0a0 2024-06-07 1022s B pandas 2.2.2 2024-06-07 244s
M dplyr 1.1.4 2024-06-07 1104s B dask 2024.5.2 2024-06-07 635s
B pandas 2.2.2 2024-06-07 1126s [] (py)datatable 1.2.0a0 2024-06-07 undefined exception
I dask 2024.5.2 2024-06-07 out of memory L] R-arrow 16.1.0 2024-06-07 out of memory
Bl Modin see README pending Bl Modin see README pending

Groupby Join

25
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Database-like ops benchmark (https://duckdblabs.github.io/db-benchmark)

basic questions

Input table: 1,000,000,000 rows x 9 columns ( 50 GB )

CORYFIT—T TCOFNBEEE

M FireDucks 1.0.4 2024-09-10 15s python
[] DuckDB 1.0.0 2024-07-04 25s R (pythonf 2 —7x—2%1))
M ClickHouse 24.5.1.17632024-06-07 28s SQL
B Polars 1.1.0 2024-07-09 47s python
B Datafusion 38.0.1 2024-06-07 56s python
B data.table 1.15.99 2024-06-07 88s R

] DataFrames.jl 1.6.1 2024-06-07 91s Julia

M InMemoryData8etslp 2023-10-17 218s ?

B spark 3.5.1 2024-06-07 261s python
[l R-arrow 16.1.0 2024-06-07 378s R

2] collapse 2.0.14 2024-06-07 411s R

[] (py)datatable 1.2.0a0 2024-06-07 1022s python
M dplyr 1.1.4 2024-06-07 1104s R

B pandas 2.2.2 2024-06-07 1126s python
I dask 2024.5.2 2024-06-07 out of memory python
Bl Modin see README pending python

SOANE77 477Uz T3

26
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(Polars)

SEETKE
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RAPIDS
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TPCHRYFv—7 (22T Y))
5% hitps://github.com/pola-rs/polars-benchmark

INTEL(R) XEON(R) GOLD 6526Y
32 cores, 512GB
Ubuntu 24.04

pandasiC¥t 9 BREM ER (227 T ) OFHEX)

jg 47x

-|_:Ti_{|_ 35

T 30

By 25

&® 20

™ 15

= 10

Y 5  1.6x 3 Ox 1.2x

(%)

S 0

§ 3.5.4 2025.1.0 0.32.0 1.20.0

pyspark  dask modin  duckdb  polars
read_parquetiA &# DIFH

% DasklZZEZEINTS77 ) O,

32x

1.1.8

fireducks

PySparklZEN{E L 72177 = U O FF

90
80
70
60
50
40
30
20
10

0

83x
PySpark, Dask (&
read _parquet’s L
R E NS AR T
1. 6x
3.5.4 2025.1.0 0.32.0 1.20.0 1.1.8
pyspark  dask modin  duckdb  polars fireducks

read_parquetZ [ L\ /2355

28



pandas A A%

FireDucks, Modin, cuDF®D & L pandas & # 1%

ImMport XX DEEDH T, 707 7 LAKRKKDEE|INE

# import pandas as pd
import modin.pandas as pd

FireDucks, cuDF (3 import® BENZE % A] 8¢

$ python3 -m fireducks.pandas program.py

%load_ext fireducks.pandas
1mport pandas

29



Dask, PySpark

s DEIRBZAAVER—T Yy FELTZZ7A4AT 7Y
e pandas& LlI7ZAPIBLIEH L TH Y, RILERBEZT A H AlgE

« MEEZHTICIIHMBOEEZAPERENLILHE

pandas Dask

g_final = ( g_final = (

return g_final

)

return g_final

|
|
customer[customer| ] == vari] : customer[customer["c mktsegment"] == vari]
.merge(orders, left_on= , right_on= ) i .merge(orders, left_on= , right_on= )
.merge(lineitem, left_on= , right_on= ) I .merge(lineitem, left_on= , right_on= )
.pipe(lambda df: df[df| 1 < var2]) ! .pipe(lambda df: df[df[ ] < var2])
.pipe(lambda df: df[df[ ] > var2]) ! .pipe(lambda df: df[df[ ] > var2])
.assign(revenue=lambda df: df[ ] * (1 - df| i .assign(revenue=lambda df: df[ 1 * (1 - df|
.groupby/( [ , , ], as_index=Fals} .groupby( [ , , 1)
-agg({ ' | -agg({ : 1)
[ i .reset_index()[
| [
I ;
|
i te,
] I ;
] I ]
.sort_values([ , ], ascending=[False, True]) ! ]
.head(10) : .sort _values([ , ], ascending=[False, True])
) I -head(10)
i
|

Ex: TPC-H Q3 groubylZlas_index® 7> 3 AL LD T

reset_index)\ W E



Polars

* RuStCEREINIVILTF ALy MEEnicT 2y, RE{LHEEE

R B D5tiR < #17-Python AP

pandas
g_final = (
customer[customer| ] == varil]
.merge(orders, left_on= , right_on= )
.merge(lineitem, left_on= , right_on= )
.pipe(lambda df: df[df[ ] < var2])
.pipe(lambda df: df[df[ ] > var2])

.assign(revenue=lambda df: df[

.groupby ([ ;
.agg({ - HI
[
]
]
.sort_values([ ,
.head( 10)

)

return q_final

- df[
], as_index=Fals

1 =5

I
I
|
I
|
I
|
I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
i
1, ascending=[False, True]) I
|
I
|
I
|
I

Ex: TPC-H Q3

Polars

g_final = (

customer.filter(pl.col(
.join(orders, left_on=
.join(lineitem, left_on=
JJilter(pl.col(
Jfilter(pl.col(
with_columns(

(pl.col{

mktsegment”) == varl)
, right_on=
, right_on=
) < var2)
) > var2)
) * (1 - pl.col(
)
-group_by( y :
.agg(pl.sum( ))
.select(

pl.col(

], descending=[True,

))).alias(

False])




DuckDB

query_str = f

OLAP Database

Python Interfaced 4 % 7,
SQLz =<

mktsegment

D IMOENOKM ¢ final = duckdb.sql(query str)

32
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FPyi fond pandas7’ A Y 7 L®D

ronten =zl / rymytraﬁmt M
COMPILER INFRMTM

F—R7L—LF
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M LIR
Multithreaded =R 2 s S
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FireDucks D& iE1t

FireDucks | f#%

BEITHTEANAY v R

RAETFT—XDHIKR

(AVy FFz—V) O Fr—UHhEED
HBEER D D HIER O
7 v Fa— FHIB O
Pushdown&iE1t O
INZ— > aEl O IRETS/NX —
Apply D B ) Z 12 X 5T+
X

csv=> parquetZ 2
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FireDucks D& iE1t

54751 OREMEEI & Y AFIC & 2 BIEAKIZEIR

TPC-H Q3TOFBTE L H Y - AL DI — N TDLE

120
100 > I AzmwtenL
80 U AEmEHY
FITHRE 60
40
20 12%
. - 0.65% 0.68%

pandas fireducks

M sgl-based m optimized
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Rr—3EYT 4

RILFALy Pl L7477 ) ThnlE, RWeoYOREHY)

XS B RE MR £ 137139 2 RE M LR
(read_parque’rl&%k DIFE) (read_parquetz R W\ =355
8 8
_o 6.5x
4 4
2 2
—— —e ® o 1.3x 4 . . 0.94x
0] 0
0 4 8 12 16 20 24 28 32 0] 4 8 12 16 20 24 28 32
—e—pandas —e—duckdb polars —e—fireducks —e—pandas —e—duckdb polars —e—fireducks
il T
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e 7477 (lbis, Narwhals)

Ibis Narwhals

Ibis backend types st
li'“I!l"I"""'
BigQuery |=: s, 'ln.
ClickHouse
DataFusion==
Druid
DuckDB== to“'
Exasol \
o
\9J

o o ARROW DD

MSSQLz== °&°

Ibis API SQL " M
ySQle 0( .
Oracle~ 4 _
= & T # dask

==DatakFrame - _PySv\rI)ark a ’(
isingWaves=
Snowflake== RAP'DS
SQLite== .

Trinow= =ik & ®
Polars== _E,E':: MOD'N

|:;| pandas
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